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FHALESE 2014 EEHE
B (MR — ) @ 23/36(KMI%E : 0) ST L5 i tr(0.086)
BHsEE (gk~—2) : 23/36(KHI% : 0) gL fiE tr(0.090)
R T RE : 0.07 ziajt [ 0.58
JE & FBRAE : 0.22 s/ ME nd
T p VR 3] Fo T —
Hh 5 N SR A =5 A A M AT e
0/18~9/24 nd MV
JeiEiE 1 [PIRAEE)R (J1H)
9/16~9/17 nd HV
FLIR T 2 |[fLiE=fT o (RLigT) 9/17~9/18
9/18~9/19
9/1~9/2 nd HV
AFE 3 |MEEAX—4 (FAHT) 9/2~9/3
9/3~9/4
9/2~9/9 tr(0.12) MV
B R 4 |EHRALE EAFEST (LA
9/2~9/9 tr(0.09) MV
R 5 |ARBREFERER Y — (LiET)
9/2~9/9 tr(0.14) MV
TG IR 6 |BERIRRBEBRBEAITEAT (ARG TH)
9/25~10/2 tr(0.09) MV
THER 7 | MR R BRBE R KW E R (TR
9/3~9/10 tr(0.18) MV
8 | B RHCBREEARLEAITEAT (JLIRIX)
HORAS 10/19~10/26 nd MV
9 INEFRARE
9/8~9/9 0.40 HV
iy 10 |[MRJINREER Y% — (F&N) 9/9~9/10
9/10~9/11
9/1~9/8 0.24 MV
Rl 11 BT BRBER I ge AT (R i)
8/25~8/26 nd HV
iR R 12 [ RIL— BB RKME R CBrig) 8/26~8/27
8/27~8/28
8/25~8/26 tr(0.15) HV
LR 13 [HEd —MeBR R R &ME R (R ) 8/26~8/27
8/27~8/28
9/8~9/9 nd HV
)11 14 AR EEREEE v % — (&) 9/9~9/10
9/10~9/11
8/26~8/27 tr(0.11) HV
LAY IR 15 [ IWAL R A R BRI ST T (H R TT) 8/27~8/28
8/28~8/29
9/2~9/9 tr(0.10) MV
EEE 16 | R¥IRIRBER2IZEAT (K2
9/16~9/17 nd HV
M7 2. I 17 | RIRERAEBR BEIF TR (4515 T) 9/17~9/18
9/18~9/19
0/17~9/24 tr(0.11) MV
£k &l 18 | TR ERIAR (4 &R
9/1~9/2 tr(0.09) HV
—ER 19 |=E\EEREREEMZEET (WA f) 9/2~9/3
9/3~9/4
- oo [HAARSTAT B A K IR RS A A PE RS £ P 058 HV

BEFERT (KBiit) A
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